WALL MOUNT VESA 100

MOUNTING I NSTRUCTIONS
o
o




CONTENTS

1x UQB Ix 2x 4x \\\\\\\\\\\\ 2x
VESA 100 5x35 mm M6x15 mm M4x9.5 mm

Wall mount = Mounting plate Wall Screws Screws for securing the Screws for locking the two

for concrete wall installation attaches to the speaker use with plugs for concrete walls mounting plate to the speaker mounting plates together

2x /

8x38 mm Green

Wall Plugs

for concrete wall installation

Mounting Instructions

Introduction / Disclaimer

The VESA100 Wall Mount is designed for use with any of our speakers that are VESA100-compatible. It supports both wall and ceiling
mounting. The included hardware, green wall plugs (dowels) and matching screws, is intended only for installation on concrete surfaces.

If you plan to mount the speakers on drywall, wood, or into a wall stud, you must use appropriate hardware for those materials, such
as drywall anchors or wood screws, which are not included.

Preparation Tips

Before mounting the speaker to the wall, we recommend one of the following:

e Usethe included mounting template with your speaker

e Orpre-assemble the mount with the speaker to visualize the total dimensions and placement
This will help you better understand how the speaker will sit relative to the mount.

Make sure your chosen mounting location provides:

e Sufficient space for the speaker
e Asolid and secure surface for mounting

Also consider:

e Listening height - align the speaker with ear level for optimal performance
e Dispersion - ensure the speaker is aimed correctly to achieve balanced sound coverage in the room



“ Attach the Speaker Mounting Plate

A.  Place the VESA100 speaker mounting plate so that the rubber side
faces the speaker to protect its surface.

B.  Align the plate with the VESA100 mounting holes on the speaker.

C.  Secure the plate using the 4x Méx15 mm screws (included).
Tighten firmly but do not overtighten.

Important:

Make sure you install the plate in the correct orientation.

In the instruction graphic, the red triangle indicates the top side of the
speaker mounting plate - this is where the locking tab is located.

Use this visual reference to ensure the plate is positioned correctly
before fastening.

9 Mark the Mounting Holes on the Wall

A.  Use the included mounting template or the wall mounting
plate itself to mark the two drill holes. Align the elongated holes
vertically for adjustment flexibility.

B.  Ensure the mount is level before marking the holes. Use a
bubble/spirit level for accuracy.

Note: Make sure the plate is in the correct orientation, with the
locking tab at the top - as shown by the red triangle in the graphic.

Tip: Mark the holes lightly with a pencil so adjustments can be made
before drilling.

e Drill and Insert Wall Plugs

A.  Using the marked points from Step 2, drill two holes into the
wall. Use an 8 mm drill bit to match the size of the included
8x38 mm green wall plugs (dowels). Drill to a depth of at least
38 mmto allow a snug fit.

B. Insert the green wall plugs into the holes. Tap them in gently with
a hammer if needed, until they are flush with the wall surface.

Important: These plugs are only suitable for concrete walls.
If mounting into drywall, wood, or studs, use appropriate anchors or
screws instead (not included).




° Mount the Wall Plate pi— -
| |

A.  Position the wall mounting plate over the installed wall plugs.

B.  Insert the 2x 5x35 mm screws through the elongated holes in the
plate and fasten them securely into the plugs using a screwdriver. 1x U D
Adjustment tip:

If the plate isn't perfectly level, you can make fine adjustments left or
right by slightly loosening the screws and rotating the plate within the
elongated slots.

- Once adjusted, tighten the screws firmly. <

e Attach the Speaker to the Wall Plate

A. With the speaker mounting plate already attached, align the | ‘
speaker above the wall-mounted plate. D
B.  Carefully slide the speaker downward so that the two plates i f '

interlock securely. m
Note: Make sure the plates are fully engaged before letting go of the
speaker.
Tip: If you're mounting the speaker close to the ceiling, you can rotate I |
the wall plate ?0° and slide the speaker in from the side instead of H
from above.

v
e Lock the Plates Together

A.  From the top side of the mounted assembly, insert the 2x M4x9.5
mm screws through the locking holes in the speaker plate into the

wall plate. D
B.  Tighten both screws securely to lock the two plates together and 2x L7 N
ensure the speaker is firmly held in place. M4 K ’ A .
Your speaker is now securely mounted. Take a step back, admire the setup, @ %

and enjoy your sound—clean, clear, and perfectly placed.

Safety & Maintenance : Double-check all screws and connections periodically to ensure the mount
remains secure over time. Avoid applying excessive force to the speaker once mounted. Do not hang or lean ARENDALSOUND.COM
on it. If you plan to relocate the mount, always remove the speaker first before dismounting any parts.



